JEM FOUNDATION SCHOOL 
FINAL TERM EXAMINATION (2019-20 )

STD: – VI                                                                                                         F.M:- 80

SUB:– MATHEMATICS                                                                           TIME :– 3 Hrs15mins
 Genral Instruction: 
Q no. 1 to 12  each carry 1 mark.
 Q. no 13 to 22 each carry 2 marks.

 Q no. 23 to 30 each carry 3 marks.

 Q.no 31 to 36 each carry 4 marks.

                                                         SECTION  A                             

 (1×12 =12)

  Choose the correct answer

1. 3.5 + 4.05 + 6.005 =
a 1.545               
b 1.095              
c.  1.41                  
  d. 1.6

2. ( - 42 ) + ( - 35 ) = ________
a. –7               
b.  7             

 c. -77                    
d.  none of these
     3.   Which of the following is a prime number
          a  81                   
 b  87                   
c  91                     
 d 97
     4.   How many parts does a triangle have ?

a. 2                  
b.   3                  
  c.  6                        
 d  9

     5.   The  simplest form of  a dozen to a score 
a.  4 : 2            
 b.  3 : 2                    
c.   1: 5                      
d. 3:5
     6.  If  a and b are co-prime then their LC.M is 
          a.  1                 

b.  a /b                  
c. ab                          
d. none of these

    Fill in the blanks:-  

     7.  The additive inverse of [image: image2.png]


 is ___________________
     8. Simplify 15 -4 ÷ 2×2 = _____________

     9 . ________ ÷  (-13 ) = -5
    10.      16 kg 2 gm  = ________gm
    11. If  8x = 24, then x = ___
    12.  [image: image4.png]100
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   = ___________
                                   

 SECTION – B                                          (2×10 = 10)
     13. Simplify : 16 – [ 11 – { 8 ÷ (17 - 13 ) }}]
     14. Solve :    [image: image8.png]
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  + 1
15.  Are the ratio 45kg , 60 kg and 36 kg , 48 kg in  proportion.
16.  Find the perimeter of a square , each of  whose sides measure 3.6 cm.
17. One of the angles of a triangle is 110º and the other two angles are equal . What is the 
          measure of each of these equal angles 
18. Find the L.C.M of 12, 18 ,20
19. Simplify : 76.3 – 7.666- 6.77
20. Fill the blanks :  
i) A diameter of a circle is a chord which passes through ________
           ii) Any part of a circle is called ____________
21. Draw the perpendicular  bisector of a given line segment PQ of length 7 cm.
22. The sum of two integers is -13 . If one of them is 8 find the other integer.

                                                 SECTION – C                                 

(3 ×8 =24)
23. Simplify :  4 [image: image12.png]10
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24. The ratio of income to saving of a family is 11:2. Find the expenditure if the saving is  
Rs 1520.
25. Solve :   [image: image24.png]
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 - 2
26. The area of a rectangle is 630 cm2 and its length is 35 cm. Find the perimeter of the rectangle 
27. Draw a circle with centre O and radius 3cm. Draw a sector having an angle of 54º.
28. In an army camp, there were provision for 425 men for 30 days. How long did the provision last for 375 men ?
29. What is a trapezium ? When do you call a trapezium is an isosceles trapezium ? Draw an  isosceles trapezium .Name the following parallelograms :
30. Find the angles of a triangle which are in the ratio of  2: 3 :4 .                                       





SECTION– D                                                   ( 4×6 = 24 )

31. Two sides of a parallelogram are in the ration 4:3. If its perimeter is 56 cm, find the length of its sides.
32. The weight of 15 books is 5 kg .
a. What is the weight of 65 such books ?

b. How many such books weigh 8.2 kg ?

33. The diameter of a wheel of a car is 70 cm. Find the distance covered by the car during the time in which the wheel makes 1000 revolutions.
34.  A number of children in 25 families of a colony are given below:
2,0,2,4,2,1,3,3,1,0,2,3,4,3,1,1,1,2,2,3,2,4,1,2,2
Represent the above data in the form of  frequency distribution table.

35. In a class test , the number of students passed in various subjects are given below
	subject
	English
	Maths
	Hindi
	Drawing

	No. of students passed
	25
	45
	10
	15


Taking the scale Ω = 5 students. Draw the pictograph.

36. Construct an angle of 30º using a pair of compasses.
__________________________________________________________________
